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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T AR
= 1 107, 718, 577
HhgET
= 1 8, 621, 268
TAT 7 MifZE T
= 1 8, 621, 268
N & e (FOE - D) FAITyvvT7 RC-40 41 B0 &
mm
m2 2, 540 724.5 1, 840, 230
- R (R - BRI RIS M-30 {1 v &
mm
m2 2, 540 944. 7 2,399, 538
FE (FaE - B BRI T AT (13) A3 50m
m 3. Omtd
m2 2, 540 1,725 4, 381, 500
Bkt 1
= 1 6, 265, 668
E¥LT
= 1 949, 033
RIE Y +H
= 1 410, 590
MR L +wh
= 1 344, 340
i S T Cadl- ERiRY L&)
Bly—SY
= 1 182, 970
gt s AN T oaLEE
= 1 11, 133
18T
= 1 3, 661, 890
7" VR AN B300 X H300
m 171 7,375 1,261,125
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HoOflf =%

TRy - T - A% - A5 P - LFENAL B G EHAm & T2 (BB
H H A EAARE B600 X H600~1700
(1)
m 47 39, 438 1, 853, 586
H H A EAARE B600 X H600
(2)
m 17 32, 187 547,179
Akt vvd-y T
= 1 1, 654, 745
BT O K B500 X L500 X H500 18-8-25 (#&47)
W/CHER L
(1)
T 1 41, 679 41, 679
BT O K B500 X L500 X H800 18-8-25 (#&47)
)Y -hE
(2)
T 1 78,713 78,713
BT O K B800 X L800 X H800 18-8-25 (#&47)
)Y -hE
(3)
T 1 136, 077 136, 077
K 53 B ¢ 1200 X H2400
T 1 1,398, 276 1, 398, 276
Bl st L
= 1 2,891,171
[ A T
= 1 2,891,171
FETET ), SR LA SRS R $101.6X3.2
H 98 4,966 486, 668
ST B 1R H=1.5m Ayyalz/A
m 183 11, 770 2,153,910
FeBE JrBH &
H 3 83, 531 250, 593
-7y FE (BR) 1
= 1 13, 602, 400
E¥LT
= 1 455, 365
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm & T2 (BB
RIE +Hp
= 1 194, 490
MR L +wh
= 1 153, 040
b S T Cadl- ERiRY L&)
Bly—SY
= 1 101, 650
gt s AT oaLEE
= 1 6, 185
VR VARSY RN EVZA R VAR DY Z 5=
= 1 13, 147, 035
BUGFT FetfE 2 ) ) -} 18-8-25 (FEF)W/CHRE e L IR
55cm @S 35ecm
m 115 10, 328 1, 187,720
BUGFT /D dkav)) -} 18-8-25 (F4F) W/CHEE 72 L
m3 2 65, 624 131, 248
av))=h (F3%n) 77 vy 350
m2 387 26, 215 10, 145, 205
RSA - BEARY (Wef) FEf RC-40
m3 144 7,542 1, 086, 048
BUGHT Kb )=} 18-8-25 (F4F) W/CHEE 72 L
(1)
m3 5 59, 066 295, 330
BUGFT Kb )y -} 18-8-25 (F4F) W/CHEE 72 L
(2)
m3 3 59, 412 178, 236
BT kK2 ) -} 18-8-25 (F4F) W/CHEE 72 L
m3 4 30, 812 123, 248
B T
= 1 2,834, 256
B T
= 1 2,834, 256
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TRy - T - A% - A5 MO LFENAL B G EHAm #H T2 (BB
AR B
m 194 14,011 2,718,134
SRR B A
t 11.77 9, 866 116, 122
AR L
= 1 6, 657, 712
2 FABG R L
= 1 6, 657, 712
% TR L e 1o1m 78— v e
(1)
m 81 13, 242 1,072, 602
% TR L M 11m 7/h-% VEREA
(2)
m 32 14, 511 464, 352
% TR L e 1o1m 78— v e
(3)
m 32 13, 242 423, 744
% TR L M 11m 7/h-% VEREA
(4)
m 30 14, 617 438, 510
% TR L e 1 1m 7/h— v e e
(5)
m 262 13, 242 3, 469, 404
B4R 1EE TNk VR
(1)
m 93 2,900 269, 700
B4R 1k T-K VR E A
(2)
m 56 9,275 519, 400
BRET
= 1 786, 631
T B T
= 1 786, 631
B ERE (EA)
m2 5, 000 130.4 652, 000
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & TE (B ESM)
SRELAL Gy
t 7 19, 233 134, 631
AR - XK IE T
= 1 2, 747, 206
JE K E] T
= 1 2, 747, 206
8K E]
=] 70 35, 678 2,497, 460
BRAAKE]
=] 7 35, 678 249, 746
NSV UEL N
= 1 60, 042, 566
JRBSLERERE T
= 1 60, 042, 566
Iy SY(E=S
= 1 60, 042, 566
HEE L
= 1 1, 403, 220
e B LT
= 1 469, 188
KE+o 5 ik
(1)
] 212 1, 692 358, 704
KA+ 5 ik
(2)
] 66 1,674 110, 484
TEHR LB T
= 1 934, 032
K+ 5 JeHy
(1)
] 212 3,333 706, 596
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
K+ 5 Sty
(2)
ges 66 3, 446 227, 436
Gan
= 1 1, 866, 479
THHER T
= 1 471, 969
[E23 22X 1,524 X6, 096 (mm) fH#
m2 2, 397 196.9 471, 969
ARmE T
= 1 1,394, 510
AW B
= 1 1,394, 510
B TR
= 1 107, 718, 577
B SElTE:
= 1 10, 459, 894
IR
= 1 3,031,912
TR
= 1 3,031,912
IERA TR
t 413.8 7,327 3,031,912
MR E (FE L)
= 1 7,427,982
Wi
= 1 118, 178, 471
B
= 1 44, 491, 924
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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
T AT

= 1 162, 670, 395
— R

= 1 26, 029, 605
TS

= 1 188, 700, 000
THEBLFH Y %H

= 1 18, 870, 000
TH#EG

= 1 207, 570, 000
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